
Arithmetic Challenge 6

936 − 324 =             403 + 334 =             10 × 8 =                 

72 ÷ 8 =             367 + 231 =             12 × 4 =             

120 + 360 =                 945 − 305 =             3 × 3 =             

20 ÷ 4 =             467 + 129 =             36 ÷ 4 =             

567 + 178 =             662 − 473 =               8 × 12 =             
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Arithmetic Challenge 6 Answers

936 − 324 = 612 403 + 334 = 737 10 × 8 = 80

72 ÷ 8 = 9 367 + 231 = 598 12 × 4 =48

120 + 360 = 480 945 − 305 = 640 3 × 3 = 9

20 ÷ 4 = 5 467 + 129 = 596 36 ÷ 4 = 9

567 + 178 = 745 662 − 473 = 189 8 × 12 = 96
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